CR03 Medium Chicken/Rabbit Run
4x3x1.95 m

Owner's Manual

g
T s
o ¥ —— o |
- e T
7‘1‘.‘?
- .

L

—4 LI- '—
S A

L T
‘ A
§
".'
!x
4!

T o

i
)
. i
:
K
!

M
‘|
¥
{
¥
i
I
{
[
1
¥
L)
[+
‘.
v
i
3
v
i
L3
L]
3
i,

3 -'".- -, -, — =
:. et Soeoeg




4X3X2m LIST OF MATERIALS

PNAORT DIMENS | ON STYLE PIC QUANT I TY
D) 1420mm 4
@) 1925mm I S 10
©) 970mm 6
® 1820mm 2
©®) 630mm 1
A 312+1595mm Door left 1
B 310+1595mm Door right 1
C 497mm Door buttom 1
D - — 4
E &b 2
E2 2
F '?!gﬂ 2
G == 2
H ggﬁghgzza 2
| = 2
J — S 1

Hinges: 2 pieces
Lock: 1 set
Bracket: 6 pairs
UClips: 2 pieces
Roof: 1 pieces
Parts |Rubber rope: for roof
Package |Cable ties: 1 package 1
M8 square heard screws: 8
M8 screw nuts: 8
M10 square heard screws: 4
M10 screw nuts: 4
Electro hex: 1 pieces, total 38 meters




4x3x1.95m

step.2




4x3x1.95m




4x3x1.95m

I
XI

step.5 ®
?F’“i
X
B \ D 1:10
Xl
1:10
step.6
Reticulation Roof
5850mm l
|
- gE
| |
201 0mm . -—
2010nm

Safety Warning: Please use protective gloves when cutting and handling wire mesh.
We have provided a large number of cable ties, the recomended spacing is 15cm,

should you require a closer spacing you may need to purchase additional cable ties.

support@aefba.com



	页 1
	页 2
	页 3
	页 4
	页 5

